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(1 + x) y′′(x) + x2 y′(x)− y(x) = 1 + x, 5n6
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∞∑
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α = 1/2+ β = −1/2+ � α = −1/2+ β = 1/2�

�&� 9�� 8����� ���
 ��������# j��4� �
.�#
0� �������
�� :�4���#
+
� #&� ��� ���0� ���/��������8�&��� ����&�
#����� � #&� �����!1�&�#
+ ��"
��8�&������ # �
.�� �� i
� 8�� �#��� ����!��+ ���#������� # 9��� �
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��� ��������# T (n, x)+ &!1�&�#!0� � ��� #&� �&�
���� ����# ��������#
:�4���#
�
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���
 5���� α = β = 06 ��� ����"
��� ���
 �������� .
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��8��&� .��&� ����� �
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���
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.���� 5� &�
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��$+ &�&���1!0 �. &��1���� ��������# :�4���#
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p0(x) =
1

2
, pn(x) = T (n, 2 x− 1), n ∈ N. 5��6

��9�������� 1/2 .��&� �
&���!��&� �� �4�8�� ����# g!��� � � ��&��$
&#�.� & ���
�� :�4���#
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#���&� �� ��/� ���
� ��#�.��3��+ �
� �
�
�&�� #.��� p0(x) = 1+ �� ��9�������� 1/2 ���#��&� �
��� # ��!/� ��&�
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.�&�� �!����$ 5��6 ���#���� � ���!+ 8�� �����8��$
#����� # ���&��
�&�#� ��9���������# g!��� A+ &���#��&�#!01�$ �!�����
e(x) = 1+ ����� #��

e = 〈2, 0, . . . , 0〉t .
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����� ����
����# X+ D+ 
 �
�3� X2 ≈ X.X ��� &�&���� 4
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�!����$ 5��6 !&������ �8��� ���&��� '
����
 X2 h 9�� ��&������ !�!8���"
��$ #
��
�� �
����� X2� ;�� �
����� ����8
0�&� ������ # ����� 9�����"
��+ 16 (X2−X.X)[N,N ] = 1� -��
��+ �
� � ��� ��������# 2�3
���
 # d�e+
����
��� X2 #&� 3� �!8�� # 8�&����� �
&8��
 + 8�� X.X+ �� �� �
&������+
8��4� ##����� ��������� ����
���� X3, X4 � ����
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���!��!�
 9�� �
���� &�#������� �8�#���
 ��� �04� N � �� ���4!��
����
��.
���� ��� N = 6 ��� ���0� #��

X=
1

4

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

2 2 0 0 0 0

1 2 1 0 0 0

0 1 2 1 0 0

0 0 1 2 1 0

0 0 0 1 2 1

0 0 0 0 1 2

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
, D=

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

0 4 0 12 0 20

0 0 8 0 16 0

0 0 0 12 0 20

0 0 0 0 16 0

0 0 0 0 0 20

0 0 0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
, X2=

1

16

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

6 8 2 0 0 0

4 7 4 1 0 0

1 4 6 4 1 0

0 1 4 6 4 1

0 0 1 4 6 4

0 0 0 1 4 6

⎤
⎥⎥⎥⎥⎥⎥⎥⎦
.
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����
 j��4�+ 
&&������#
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&�&����$ ��������# 5��6+ 
 &��!��!�
 �
����� D &���!�� �. &#�$&�# ����"
����# :�4���#
 5&�� dse6�

-&�
��&� ���#�&�� #������"&����� ��� !8��
 ��
�#� !&��#�$+ �
� ��
9�� ���
�� # d�e� ;�� #������ �
.�����&�� N ���0� #��

im =
〈
p
(m)
n−1(0)

〉
, bm =

〈
p
(m)
n−1(1)

〉
, n = 1, . . . , N, m ∈ N0,

/�� m �4�.�
8
�� ����� ����.#����$ �������
 pn(x) �� x� ������� im ��"
#�8
0� .
 /�
��8��� .�
8���� �!����� ��� x = 0+ 
 bm h .
 /�
��8���
.�
8���� ��� x = 1� ;�� #������ !&������ #�&��
 ���&��7

i0 =
〈
1
2 ,−1, 1,−1, . . .

〉
, b0 =

〈
1
2, 1, 1, 1, . . .

〉
,

i1 =
〈
2 (−1)n (n− 1)2

〉
, b1 =

〈
2 (n− 1)2

〉
,

i2 =
〈
4
3
(−1)n−1 n (n− 1)2 (n− 2)

〉
, b2 =

〈
4
3
n (n− 1)2 (n− 2)

〉
.
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����� ��� !8��
 ��
�#� !&��#�$� � ��� 3�
������� ��&������ 9������� #�����
 ��
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�
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�#� !&��#�$ .
�
8� &�&���� # ���+
8�� �� �����&��0 ����
��.�#
� � !��#��&
���+ ���� �04�� ����$��� ��
�#��
!&��#�� !8���#
0�&� ����
��#�� ) �
�3� ��3�� !8���#
�� ����.#������
����$��� !&��#��+ �
��3����� �
 ������� #�!��� �����#
�
 59��/� �� ��
�
��� # �����
�!��6� *
������+ ��� ��/� 8��4� ������� ������
�� .
�
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��� .�
8���� y(x) = y0 # �
��$"��4� ��8�� x0 ∈ [0, 1]+ �!3�� .
������ ���!
�. ��&����� &���� �
����� ����
����/� ����������
����/� ����
���
+
&�&�
#�����/� �. �
���� X+ D � �����8��$ �
����� E+ �
 &����!

〈pn−1(x0)〉 , n = 1, . . . , N,

� .
������ &���#��&�#!01�$ 9������ #�����
 ��
#�$ 8
&�� .
�
8� �
 y0�
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x y′(x)− y(x) = x, y(1) = 0,

�������� ������$ �#����&� �!����� y(x) = x lnx�
��$&�#!� ���&
���� &��&�4��+ ��� �
3��/� N ���!8�� #&� ��9�����"

���� �
.��3���� ������� �� &��1����� �������
� :�4���#
+ ����� ��"
&�����/�+ y[N ]+ 8�� &#�.
�� & ������� #�8�&�����+ � ����� �#! ���#� +
��&�����! ��� ���
����
����� i
��� �4�
.��+ ���!8
��

x ln x = −1

4
+

(
3

2
− 2 ln 2

)
x+

∞∑
n=2

(−1)n pn(x)

n (n2 − 1)
, x ∈ [+0, 1].

����$��� � �.��3���0 ������
������/� ��� ��
+ ������$ ���4 ���� ���
������� 4���� �41� .
�
8+ 8�� ������� /�������� -���

� �
8�&�#� !.��# ������
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�� ����� &��"
1���� ��������# :�4���#
� i� �&�� ��� �
.�����&�� 
�����&��
��� N +

xn =
1

2
+

1

2
cos

(
(2n− 1)π

2N

)
, n = 1, 2, . . . , N. 5��6
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 �� # ���� # 8�&�� !.��#+ �#����&�+ �
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� �
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�

'
����� ����4�
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���
 5	6 � �/� �4�
1����+ .��&�
�.#�&��� # �#��� #���7

F−1 =

[
κ(n) cos

(
(n− 1) (2m− 1)π

2N

)]
, F =

2

N

[
cos

(
(m− 1) (2n− 1)π

2N

)]
,

/�� m � n �!���!0� &����� � &���4�� &���#��&�#����+ �

κ(n) =

{
1
2 , n = 1,
1, n > 1.
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�
�!����� �� �
����� X ������ #�8�&��0�&� ��8�� �� ����!�� 5
6�



��

)������
��#��$ &��&�4 #�8�&����� �!����$ �� �
����� X ����
��&� �

�41!0 ����!�! 2
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�����$ # !.�
 5��6+ �!����� �� �
����� X �
��&� ����!��$

v(X) =

N∑
n=1

v(xn) lN,n(X), lN,n(x) =

N∏
k �=n

x− xk

xn − xk
, 5�	6

/�� {xn, n = 1, . . . , N} �
�� # 5��6+ 
 lN,n(x) h 9�� �!��
����
����� ����"
���� �
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�3�#�$ �������������

�����	����� !� ��� ����� ������� v(x) ∈ H ��	
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	����� �� ��
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/�
 ��
/��
��.��!��
� -���
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y(f(x))± y(x) = g(x), 5�
6

/�� x ∈ [0, 1]+ f : [0, 1] → [0, 1]+ � g(x) ∈ H� ��.��3�� �
�3� ���������
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L = F . [pk−1(f(xj))]1≤j,k≤N , 5��6
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exp(D) =

N−1∑
n=0

Dn

n!

# &��! ������������&�� ����
���
 D+ �
�� ����
��� &�#�/
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(exp(D)− E).y = nXn−1.e
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8
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H(x, y) = −x+ log(y − y2) +
1

y − y2
− V (y), 5�n6
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yn+1 = yn − y2n, y0 ∈ C, n ∈ N0, 5�s6

/�� �������#�
� ��������
� x &���#��&�#!�� ��&�������! l#������m n+ 
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1�$ #�!���
���3�&�#
 r0��
 ���4�
3���� 5�s6+ � !��#���#����� �
� !�
#����0

V (y − y2)− V (y) = log(y2 − y + 1) +
y (1− y)

y2 − y + 1
, V (0) = 0. 5�t6
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�04�$ ��8�� y ∈ F0 & .
�
���$ ��8��&��0� -��
�� 9��� 
�/����� ����
�&�
�
 #�8�&����� & �&����.�#
���� #&0�! �
& ���1�/�&� ���
 �!����� V (y) #
�!��+ 8�� #����� 
�
��/�8�� ���������0 ����!�� ;$���
h'
������
� i
�
8�� 
������
��#��$ ����� ������� .
�
8� .��&� &�!3�� �#����$ ����7 ��"
���&����!�� 9������#��&�� ������3���� ������# � #.
���� � ���#������

(������ �!������
����/� !�
#����� 5�t6 �
 �����#
�� y ∈ [0, 1] ���!"
8
��&� ���&
���� # ������!1�� �
.���� �������� '� #�4�
�� ��� 9��/�
QD"
��������! 5���� �������� n
 ��&���8�� �
.���
6+ 8��4� ��/�����&��
#�8�&����$ �� #����� �
 �����! ��8��&�� 
�����&��
����

� dte �� ���#��� .�
8���� �!����� V (y) # ��8�� �� /��4
����/� �����!�

��� y = 1/2+

V (0.5) = −0.1542881472560446692780986496974,

& 4�����$ ����$ !#������&��+ 8�� #&� ��&���8��� .�
�� .��&� #����� i�����
�� ��3�� ����#������ 9�� ��������3�����

*
 ��/� � &��#
 ���
.
� /�
��� �!����� −V (y)+ 
 �
 ��/� � &��
#
 ���"
#����� 
4&��0���� #���8��� 8���� ��9���������# g!��� ���!8����/�
�
.��3����

V (y) =
N−1∑
n=0

sn pn(y)

# ��/
�����8�&��$ ��
�� ��� N = 80� �&� ��8����� ��9��������� s2n−1

4��.�� � �
������! �!�0 # &��! 8����&�� �!����� V (y) ����&������� ��8"
�� y = 1/2�



��

��
� �� ������� V (y) � �� ������������ ������������ !�

g�/� � &��
#
 &����3�� ������
��0 � ��&��/�!��$ �
#�������$ ��/���"
��&�� ���!8����/� ������� 5≈ 10−356+ 
 �
�3� !�
.�#
�� �
 ��+ 8�� �!�����
V (y) �� ��3�� 4��� /���������$ # �����$ ����&���&�� ����.�
 [0, 1]� %�
8�
9��� /�
��� ���4��3
�&� 4� � ��������$ �����$ 59�&�������
����� !4�#
"
��� ��9���������# g!���6� � �� #���� �
� �
 ��&!��� #����+ 8�� 9�� �� �
��
i
��� �4�
.��+ 5���������6 
�
����8�&��� &#�$&�#
 ������$+ ���!8���� 
�
��� �������+ #�#����&� �. 
�
��.
 !4�#
��� � ��9���������# g!����

�� g�*�w%-*)2q*-b ��''%(-�)*%b (j�-�

����$��� � .
�
8
�+ ������� #�.���
0� ��� �!������
����� &!�����"
#
��� ����# 5&�� due6� *
������ ��������� ����!��+ ������� �
� ���
��"
4��&��

��� &!�����#
��� 8�&��#�/� ���
 �/� 8
&��8��� &!���

s(n) =

n∑
k=1

a(k) 5�u6

!��#���#���0� �
.��&����! !�
#����0

s(n)− s(n− 1) = a(n), 5�,6

/�� a(x) 5�� ��������3���06 h 9�� �������
� 
�
����8�&�
� �!����� ���
x ∈ R+ x > const� ��� 9��� ��� ��3�� 4��� � .�
�������������

����
�� .
���! ��������� # !�
#����� 5�,6+ n = 1/x+ S(x) = s(1/x)+
A(x) = a(1/x)� i�/�
 ���!8�� �!������
����� !�
#�����

S(x)− S

(
x

1− x

)
= A(x). 5��6



��

*
�����+ &���
�� .
���! x → x/(1+x) # !�
#����� 5��6 � ���!8�� �!��"
����
����� !�
#����� �
 �����#
�� d,+�e+

S

(
x

1 + x

)
− S(x) = A

(
x

1 + x

)
. 5��6

��� &!�����#
��� .�
����������� ����# #��&�� !�
#����� 5��6 ���!"
8�� 5&�� due6 !�
#�����

U

(
x

1 + x

)
+ U(x) = A

(
x

1 + x

)
. 5�	6

�!&�� �& ����$ ��� 5�u6 & ����&�� i�/�
 �/� &!��


C = lim
n→∞ s(n)

����.�
8�� #�&&�
�
#��#
��&� !&��#��� &�/�
&�#
��� �#! ������$ �
.��&�"
��/� !�
#����� 5�,6+ ���� ��&������/�+ s(n)+ � �������#��/�+ s(1/x) = S(x)7

C = s(n)− S(1/n), n ∈ N, 5�
6

/�� ������� S(x) !�
#����� 5��6 ���!8
��&� ���&
���� # �
.�� 	 &��&�4��
& !8���� �
8
����/� .�
8���� S(0) = 0�

(
&&������ f
.���&�!0 ���4���! # �
8�&�#� ������
+ ���� A(x) = x2 �
C = π2/6� ��$&�#!� ���&
���� &��&�4�� 5� # QD"
���������6+ ��� �
.���"
��&��$ 
�����&��
��� N = 10, 20, 40 ���!8��+ &���#��&�#����+∣∣∣∣C10 − π2

6

∣∣∣∣ ≈ 4.5×10−8,

∣∣∣∣C20 − π2

6

∣∣∣∣ ≈ 3.4×10−14,

∣∣∣∣C40 − π2

6

∣∣∣∣ ≈ 9.4×10−23,

/�� ��/�����&�� ���!8
0�&� �� ����!�� 5�
6 ��� n = 1� ��� n = 2, 3, . . . ��"
/�����&�� 
�
��/�8��+ 8�� �
�3� �
�� �����! �
#�������$ 
�����&��
���
�!����� S(x)+ x ∈ [0, 1]�

�!�����#
��� & ���1� &� ����# &� &��3�� !&�������$ ��
#�$ 8
&��0
A(x) ��8�� �� ����8
��&� �� &!�����#
��� ���
 ��� f
.���&��$ ���4����+
�� ������ �&�� �!����� A(x/(1+x))  ����� 
�����&����!��&� �������
��
:�4���#
 �
 �����#
�� [0, 1]� � &�!8
�+ ��/�
 9�� �� �
�+ 
 9�� ��3�� 4���
������ ��� ��&�
��8�� &��3��$ �&�4����&�� �!����� A(x) # �!��+ ���4 �"
���� &���
�� .
���� ��������� # !�
#����� 5��6+ ������� !8���#
0� 9�!
&��/!�����&�� 5&�� ��3�6�

� &�!8
� �&�� ��� 5�u6 �
& ����&� # �4�8��� &��&��+ ����!�
 5�
6 5#�"
�41� /�#���6 ����.�
8�� ���������� �/� �4�41���!0 &!��!+ �
� �
� 
&���"
�����
 8
&��8�� &!�� s(n) � 
&��������
 ������� S(x) ��/!� &���
����



��

��!/ ��!/
 �
� �
.������� �������������&�� ∞ − ∞� � 9��� &�!8
�+ �8�"
#����+ �!����� S(x) ���/�
��8���
 �
 �����#
�� [0, 1] � !�
#����� 5��6 ��"
�
��&� ��"��!/��!�

��.���� # �
8�&�#� ������
 �4�8��$ ��� ��� ζ"�!����� (��
�


ζ(σ + 1) =

∞∑
n=1

1

nσ+1
, Re(σ) > 0, 5��6

���� A(x) = xσ+1 # !�
#����� 5��6�
����!� due+ &���
�� # !�
#����� 5��6 .
���! S(x) = xσ V (x)+ 
 .
��� ���"

&�
��#�! x → x/(1 + x)� i�/�
 #��&�� !�
#����� 5��6 ���!8�� !�
#�����

V

(
x

1 + x

)
− (1 + x)σ V (x) =

x

1 + x
, 5�n6

������� �� ����� ��/
�����8�&��$ �&�4����&�� # �!���
��
#����� 5�n6 ��� σ �= 0 ����� �#��� �������

V (x) = − 1

xσ
ζ

(
σ + 1, 1 +

1

x

)
,

/�� ζ() h 9�� ζ"�!����� c!�#��
�
��
#����� 5�n6 ������ 
�����&����!��&� 4�. !8��
 �
8
����/� .�
8�����

;�� �4y�&����&� ���+ 8�� ���������� !�
#����� 5�n6 ����� �������

V0(x) = const x−σ, 5�s6

������� �#����&� ��������� ������ ��� σ = 0,−1,−2, . . .+ ���� # �&�4�$ ��8"
�� � �
�+ /�� �!����� (��
�
 ���������
 �#�� � ������
�� �
����
�����
.�
8����� i
� �
����
 
�����&��
��� ��#�$ 8
&�� 5�n6 4!��� #���3���
�

� ��8�� x = 0 ��� σ �= 0 �!����� V (x) ����� 
&�������8�&��� �
.��3�"
��� # ���!���&��&�� Re(x) > 0+

V (x) = −1

σ
+

x

2
− x2 (σ + 1)

12
+ . . . = −1

σ

∞∑
n=0

B(n)C(n+ σ − 1, n) xn, 5�t6

/�� B(n) h 9�� 8�&�
 f���!���+ � C() h 4�����
����$ ��9��������� ;���
��� �4��#
��&� ��� σ = −1,−2, . . . � �
�� ������� !�
#����� 5�n6 # ����"
���
 f���!���+ ����

V (x) = −(−1)−σ

σ
x−σ B(−σ,−1/x), σ = −1,−2, . . . .

i
��� �4�
.��+ # ��.!���
�� ��&��3�� ����4�
.�#
��$ �� �
���8�&��
�&!1�&�#��� 
�
����8�&��� ������3���� ζ"�!����� (��
�
+ �����������$
����� 5��6+ �
 #&0 �������&�!0 ���&��&��+ ����� �&�4�$ ��8�� σ = 0�




	

��
#����� 5�n6 ��.#����� �
��  
�
�����.
��0 #&�/� ���3�&�#
 �!��$
ζ"�!����� (��
�
 5�
� ���#�
���� + �
� � �����#�
���� 6 # ������
 
&#�$&�# 
�
����8�&��/� ������� �!������
����/� !�
#�����+ .
#�&�1�/�
�� �
�
����
�

�����	����� "� ������� ζ(σ + 1) = 0 ��� 	�" � 	����� 	�" σ ∈ C!

��� ��	�
�" 
�#���� �
�
����� (26) ���
��	
�
��	 ����
� 	�����	


xσ V (x) =
n∑

k=1

1

kσ+1
, x = 1/n, n ∈ N,

	 � ����� ������� xσ V (x) ��	�
����
��	 ������ ����� �� 
��� ��	�
�


��� [0, 1]! �
� ����
��! �	� V (x) ����	 �����	�	��� (28) 

�	�
�
�������	 �8�#����+ �
� �
� 9�� #&�/� ���� ��������!����#�

����!�� &!�����#
��� 5�
6� �&��#�� �
 
&��������! ����.� ��!&����+ �
�
�
� ��� Re(σ) < 0 #&�/�
 &!1�&�#!�� ������� !�
#����� 5�n6+ �
���+ 8��
V (1) = 1 � V (+0) = −1/σ+ # &��! 5�s6� :�i���

*
������+ ��� σ = −1,−2, . . . ����� &�/�
&�� 5�t6+ V (0) = −1/σ+ �

V (1) = 1−ζ(σ+1) ∈
{
3

2
,
13

12
, 1,

119

120
, 1,

253

252
, 1,

239

240
, 1,

133

132
, 1,

32069

32760
, 1,

13

12
, . . .

}
,

/�� ������� &���#��&�#!0� ���#�
����� �!��� ζ"�!����� (��
�
�
��� 9�� .�
8���� σ �!����� V (x)+ 4!�!8� ���������+ �
 ����&� ��8��

�
��� ������� 5��� N ≥ −σ6+ �&�� #�4�
�� &���#��&�#!01�� ��
�#�� .�
"
8���� V (1)� i����� l��8��m .��&� �����
��&� # �4�.�
8����� ����� &��&��
l&���� !/���� ��8��m+ �
� �
� #�8�&����� ���#����&� # ��
#
01�$ 
���"
������+ 
 ��9��������� ������� �#��0�&� �
����
������ 8�&�
���

k��&� �� �4�
1
�� #���
��� �
 ��� �
��+ 8�� ���
����
����&��+ ����"
��� �&����.�#
��&� # ���&��!���#
��� �
���� 
�����&��
��� �
��� ����"
���+ # ��.!���
�� &���
1
0� ��!/ ��!/
� ;�� 3� &��
#����#� ��� #�8�&��"
��$ & �������
�� 2�3
���
�

b&�� ��� σ = −1,−2, . . . �
.�
8��� ��
�#�� .�
8���� V (1) = 1+ �� �!��"
��� V (x) ��"���3���! �
 ����&� ��8�� # #��� �������
+ � & ��� 3� .�
"
8����� V (0) = −1/σ+ �
� �
� ����8�� �� ������!1�/� �������
 ������ #
������ constx−σ� -��
�� 
&��������
 (28) 4!��� �
�!���
�

��� σ+ &���#��&�#!01� �����#�
����� �!��� ζ"�!����� (��
�
+ ��
�"
#�� !&��#�� �!����� V (x) �� ��/!� 4��� �
.�
8���+ �
� �
� ����� const x−σ

!3� �� 4!��� ���������+ ���� ����
���� &!1�&�#!01�� ������� V (x) ∈ H
!�
#����� 5�n6 & 9���� &#�$&�#
�� �� ��3�� 4��� �
$���� �
��� �������
58�� &����� �����!1�&�#�+ 8�� ����&�
���6�
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*
������+ 8�� 
�����&��
��� !�
#����� 5�n6 # ���&��
�&�#� AN &�/�
&"
�� ����!�
� �
.�� 	 ����� #��

A.s = F.
(
[pk−1(fj)]1≤j,k≤N −Diag [(1 + x1)

σ, . . . , (1 + xN)
σ] . F−1

)
. s = r,

/�� #����� f ∈ HN ����� #��

f =

〈
x1

1 + x1
, . . . ,

xN

1 + xN

〉t

,


 #����� r = F.f = X.(E +X)−1.e ∈ AN �
i�/�
 #����� ��9���������# g!���h:�4���#
 ������� ���!8
��&� �
�

s = A−1. r+ ���8�� ���
��$ �������
��� �
����� A � #�����
 r ��� !8��

��
�#� !&��#�$ �� ���4!��&� 5�
� �
� �� !3� �
.�4�
��&� & ���#�
������
�!����6�

)������
��#��$ 5� 4���� 9������#��$6 &��&�4 #�8�&���� �� 3� &
��� h
9�� �&����.�#
�� ������
������� ����&�
#����� �!����$ � ����
����#� *�
9�� �
4��
�� ������ �����!+ 8�� ��
�#�� !&��#�� .��&� ��3�� �� !8���#
���

� ���&��
�&�#� HN 9�
 .
�
8
 
�����&����!��&� �
�

B.v =
(
[pk−1(fj)]1≤j,k≤N .F −Diag [(1 + x1)

σ, . . . , (1 + xN)
σ]
)
. v = f,

/�� #����� f ��������� #���+ 
 ���.#�&���$ #����� v = 〈V (x1), . . . , V (xN)〉t�
k
��� �
 ���� v = B−1.f + 
 .
��� #�8�&���� #����� ��9���������# g!���
�������+ s = F.v�

'�3�� ���#�����+ 8�� ��� �04�$ �
.�����&�� 
�����&��
��� N ��.!��"
�
��+ ���!8����� # AN ��� # HN + #&�/�
 �
.��8
0�&� ���� # ������
 
�
�����$ ��8��&��� ;�� �#����&� &���&�#���  �����$ �4!&��#�����&�� �
�"
��� F + F−1�

��
� 
� ������� V (x) � �� ������������ ������������ !�







��4���� # �
8�&�#� ������
 ���#�$ �����#�
����$ �!�� ζ"�!�����
(��
�
+ ζ(σ + 1) = 0+ ������$ # QD"
��������� 5# ^TB U>CGD6 ����� #��

σ = −0.5 + i 14.13472514173469379045725198356247027078425711569924317568556746,

� �
$��� 8�&������ ������� .
�
8� ��� N = 160� (�.!���
� ����&�
#��� �

��/� ��

*
 ��/� � &��#
 ���
.
�� /�
���� #�1�&�#����$ � �����$ 8
&�� �!�����
V (x)+ ��&8��
���� �� �� ����������������! �������! :�4���#


V (x) =
N−1∑
n=0

sn pn(x), 5�u6


 �
�3� ��&������� ��8�� ��� n = 1, 2, . . . , 20+ # ������ �!����� V (x)
�.#�&��
 �#��+ &�/�
&�� ������3���0 	�

*
 ��/� � &��
#
 ���#����� 
4&��0���� #���8��� ��9���������# sn #
��/
�����8�&��$ ��
��� g�/� � &��
#
 &����3�� ������
��0 � ��&��/�!"
��$ �
#�������$ ��/�����&�� ���!8����/� ������� 5≈ 10−506+ 8�� �
�3�
����#��3�
��&� ��
�#��� .�
8������+ #�8�&������� �� ����!�� 5�u6+ ����
V (1) = 1− ζ(σ + 1) = 1 � V (0) = −1/σ & �
���$ ��8��&��0�

(
&8��� ��� N = 80 �
0� ��8��&�� ≈ 7 × 10−29+ 8�� �
�3� &8���#
��&�
& ��/� ��

k
�����+ 8�� ��8�� �
� 3� � & ��$ 3� ��8��&��0 #�8�&��0�&� .�
8����
ζ"�!����� (��
�
 ζ(σ+1) ≈ 1−V (1) ��� #&� 4��.�� .�
8���$ σ� ��� ��!"
/� σ �
.�����&�� 
�����&��
��� � #���8��! �
.�����$ &����+ #�.��3��+
������&� �.������ & !8���� ���4!���$ ��8��&���

i
��� �4�
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